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Figure Correction for DL PHY Permutation of 802.16m/D5 (16.3.5)
Yu-Tao Hsieh, Chia-Lung Tsai, Pang-An Ting

ITRI

Introduction
In 802.16m/D5 [1], the illustrated example of the permutation and subchannelization for downlink PHY is shown in Figs. 490 and 491. However, the mapping result in CRU/DRU allocation in Fig. 490 is incorrectly implemented, especially in those allocated CLRUs reserved for minibands. Meanwhile, the caption in Fig. 491 should be as short as possible, just like what has been done in Fig. 490 and many other figures. Please refer to the proposed text for details.

Proposed text

Update the paragraph on page 459, line 27- 33 by the following text and replace Figures 490 and 491 by the figures on next pages. Also change the caption of Figure 491 by the proposed caption on page 4.
---------------------------------------------------------Start of the Text--------------------------------------------------------
Figure 490 presents an example to illustrate the various steps of subband partitioning, miniband permutation, frequency partitioning, and CRU/DRU allocation for the case of 10 MHz system bandwidth. For this example, KSB = DSAC = 7, FPCT = 4, FPSi = 12 (for i≧0), DFPSC = 2, DCASSB,0 = 1, DCASMB,0 = 1, and DCASi = 2 ,and IDcell = 2.
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Figure 490 – Frequency partition for BW=10 MHz
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Figure 491 – Subcarrier permutation for BW=10 MHz
---------------------------------------------------------End of the Text---------------------------------------------------------
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KSB = 7, FPCT = 4, FPS0 =FPSi =12, DFPSC=2,
DCASSB,0 = 1, DCASMB,0 = 1, DCASi=2, IDcell=2, and two data streams.
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